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%4 JUIN BT o L AR H B Rl B
X f OV 2% m (1R ) T2~ R B ok FBI~F9 7] A=~ )\ R INE~ R Ftti~ IR HRA~JF
288.9km 6.3km 232.3km 462.6km 148.8km 66.1km
JIN~ B2 (IB#R) B % H~f E
49.3km (23.5km)
[&FF]
281.6km

LA (mm) 1,435 1,067 1,067 1,067 1,067 1,067
BR¥ (4 7) 11 - 96 109 40 23
RS b Gr ) 66 2 21 131 30 3

50 X5% () 1,072 1 958 1,242 577 166
BT 5 Eakd - - 360 526 180 110

HoME - - - - - -

EiRY = = 7 9 5 4

HATE - - 11 31 5 5

aat = = 378 566 190 119
BI| B MR oD A J H H H H H H
fFrteeskdn PEERE B H ) o> R A e £ B &P E < H#EpAZ< B & Z < H#EpAZ<K B & E <

B1| B ch I A CTC(PRC}) e CTC(PRC}) CTC (PRCH}) CTC(PRC}) CTC (PRCHF)

BB R B (R |Arom bk gL n k(oo n) | ATS-DK » F VANV Bnik ATS-DK* 7 ANV SAniki ATS-DK+ 7 VA5 FrAnik ATS-DK« 7P 2N o fr ki ATS-DK* 7 VX NAF BArikak

ATS-SK-Z A= ATS-SK-Z5J&# ATS-SK-Z &= ATS-SK-Z5J&# ATS-SK - Z5 & =
Eupal AC 25,000V DC 1,500V AC 20,000V AC 20,000V AC 20,000V AC 20,000V [ 42 ~HE)1]
S PR P kS ER(FHEX) [Ha~Pr)2]
R

R e 260km/h 95.0km/h 130.0km/h 130.0km/h 130.0km/h 95.0km/h
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%4 USN EAEAR [ERERESE H HZ LR HALAR JERER
X f OV 2% m (1R ) IR~ KRGy REAR~KSY JERT L~ iR IR~ IR~ R IR~ AN
141.5km 148.0km 48.8km 68.7km 42.6km 124.2km
AR~ {375
25.7km
[&FF]
68.3km
LA (mm) 1,067 1,067 1,067 1,067 1,067 1,067
BREC (7 7) 35 35 13 22 29 26
RS b Gr ) 29 38 6 17 15 55
50 X5% () 342 211 180 182 189 239
s OE % gk 229 187 57 86 131 80
HoME - - - - - -
EiRY 6 3 7 4 4 15
HATE 12 10 2 35 16 14
aat 247 200 66 125 151 109
BI| B MR oD A J H H H H H b3
fEatRsds | Pe<kE Rk H B PR 2 < (HE R ) BEPAZE<ARI R~ FEME B3] | BEEIE<K Feik B BHEAE < (P [ #) B #PAE SRR iE~ ] Feik B BEAE <A (B 17 5)
Fisk B B P2 < (BB E]E) R ) YB3 GBI LA~ 7 ]
B1| B ch I A CTC(PRC}) CTC (PRCH}) CTC(PRC}) CTC (PRCH}) CTC(PRC}) e
B B4 s kG % () [ATS-SK- £ &K ATS-DK 7 VX V4G BArkak ATS-DK« 7P # N4 o fr ki ATS-SK-Z &= ATS-SK-Z = ATS-SK-Z &=
ATS-SK-Z A= ATS-SK - Z8 & .
[ial PR AC 20,000V 53~ FHbE B4, fik~ei K] | AC 20,000V S DC 1,500V [~ ] S
KR P PR R kS R
R e 95.0km/h 95.0km/h 95.0km/h 85.0km/h 85.0km/h 85.0km/h
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X f OV 2% m (1R ) HR A~ PP~ DA B~ P R Bl ~ R EE~FE B~ H ) S
61.6km 25.4km 42.5km 47.6km 25.1km 13.3km
LA (mm) 1,067 1,067 1,067 1,067 1,067 1,067
BR¥ (4 7) 15 14 12 11 9 4
RS b ) = = 2 9 4 1
50 X5% () 97 45 133 129 84 31
BT 5 Eakd 83 45 56 63 28 20
HoME - - - - - -
EiRY = = 1 1 - 2
i ARE 4 1 17 - - 5
aat 87 46 74 64 28 27
BB IEHR O A7 i3 H H A [ Fi~ 72T RA] H H
fFrteeskdn PEERE ek B B E <B4 5) PR E BRI <k (B ) [~ B0 | [ R 2 < P R~ LA Feik B BIEAE <A (B 5) H#EpAZ<K Feik B BHEAE <A (P [l #)
HBEAE < R [T~ 225 a8k 1P < G LA~ A m]
B A h i3 CTC (PRCH) CTC (PRCHH) e CTC (PRCHH) CTC (PRCH)
B B4 s kG % () [ATS-SK- £ &K ATS-DK 7 VX V4G BArkak ATS-SK-Z = ATS-SK-Z &= ATS-DK« 7P 2N o fr ki ATS-SK-Z &=
ATS-SK-Z A= ATS-SK-Z5J&#
#h PR ER(ZE B DC 1,500V [~ P ] AC 20,000V[ Rz~ 277K 2] |AC 20,000V PRk
R PR PR P kS R
R e 85.0km/h 85.0km/h 85.0km/h 95.0km/h 100.0km/h 85.0km/h
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%4 B BT IR ZEHERR = FEAE Bk
X f OV 2% m (1R ) P B I ~ AT &~ EIFZe v Fh~=f JHE IR B v e~ okl
88.9km 1.4km 25.6km 87.8km
LA (mm) 1,067 1,067 1,067 1,067
BR¥ (4 7) 27 1 8 35 575
RS b Gr ) 25 = 2 12 468
50 X5% () 195 11 90 223 6,397
BT 5 Eakd 103 - 38 135 2,517
HoME - - - - -
EiRY 4 = 3 3 78
HATE 36 - 1 12 217
aat 143 = 42 150 2,812
BI| B MR oD A J AR ~ATE] H i3 A DR e~ 1)1
fFrteeskdn PEERE R EBYPAZ < us g (R~ m ] |5k B B BA 2 < X (W [E #5) ek B B E (B4 5) Rk BB PR <X (B [E] %)
Feik L BIPAE < (745 5) [ ~ A&
B A h CTC (PRCHF) CTC (PRCHH) i3 CTC (PRCHH)
B &h 51 g (k3 S (J50) [ATS-DK- 7 VAL Birik=X ATS-DK 7 VX V4G BArkak ATS-SK-Z = ATS-DK 7 VX NAF BAr kX
ATS-SK - 28 2 ATS-SK-Z 52 ATS-SK-Z5 &5
[yl AC 20,000V [ /i E= i~ 5] AC 20,000V PRIR 7S
PR PR R AR
R e 85.0km/h 85.0km/h 85.0km/h 85.0km/h
[ELIESERR ORI
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[ISER =L 2 76 A ARgkiE A EREE (Gl Stils] IR gkiE
%4 FRAHR A AR REFRR T ARBR | R HUEE K ERER 158/ 25 #k 35 [SVEE SR
X f OV 2% m (1R ) (bR 2 M) ISR (Rah) ~ KM | ER~ gk e SRR SR A ~ S E T (155 18 v~ o] 2 vk AR~ RAH R R~ B P
74.8km 11.0km 16.0km 13.1km 12.0km 43.2km
(REEIFHY) Pask — A i~ KT (275#) i[5~ HLx
2.4km 4.7Tkm
(HAM) HAR~E O [&F]
17.9km 17.8km
[A3t]
95.1km
LA (mm) 1,435 1,067 1,435 1,067 1,435 1,067
BR¥ (4 7) 62 10 21 19 16 24
RS b Gr ) = = = 2 1 1
50 X5% () 450 46 96 4 - 88
BT 5 Eakd 338 23 49 - - 139
HoME - - - - - -
EiRY = = = = = 2
i ARE - - 10 - - 39
aat 338 23 59 = = 180
BI| B MR oD A J H H H H H H
fFrteeskdn PEERE H#EhpAZ<R B B2 <A (REk) H#EpAZ< B R DR R R B H ) O R A e 1 B & E <
B B AR v A A CTC (PRC) CTC CTC (PRCf}) CTC (PRCHY) CTC (PRCf}) CTC
B B8 s 1k G S (55 [ATS - ik B A ATS - e i B HR AT 2 ATS » B s i e 2 ATC+ AF#fiE A # 6 BB I B KA BRI A R (ATC) | ATS » 28 &3
[yl DC 1,500V DC 1,500V DC 600V DC 1,500V DC 1,500V R
SRR I 110.0km/h 65.0km/h 60.0km/h 75.0km/h 70.0km/h 75.0km/h
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85.0km/h (& HIfR)
85.0km/h (FHJII#R)

[ISER =L 2 e AREREE HoAgkE A bRl ARk AT gRE SR R E <E)PGE
%4 SR, IR R HAHR AR PR B SRR B LR
X f OV 2% m (1R ) (B i) Fe Il ~HAR SLEF~ AR A H ~ AR (GHAMY) B~ B)IFHH N IR AR ~ i
REAR~EE 13.7km 17.7km 93.8km 16.1km 24.8km
10.8km (R E#R) 4 ~ B ) 2 HESE
(eI %) 6.8km
JLARAR ~ IR & i () 1#0) 4746~ F) 1 5+
2.3km 26.3km
[&5F] [A3t]
13.1km 49.2km
LA (mm) 1,067 1,067 1,067 1,067 1,067 1,067
BR¥ (4 7) 18 11 10 57 36 14
RS b Gr ) 1 = 1 19 2 -
50 X5% () 31 34 43 289 170 69
s OE % gk 52 34 26 103 66 54
HoME - - - - - -
EiRY 1 = 1 5 3 1
HATE 19 2 2 14 16 7
aat 72 36 29 122 85 62
BI| B MR oD A J H H H H H H
fFrteeskdn PEERE ek B B E <B4 5) Rk B BHEAE < (P [l #) ek B B E (B4 5) Feik B BIEAE <A (B 5) HEPAZESKIE S ~BIFE] |27y AE~HEEY]
HE B B (TR~ )] | 22 7 [ B XX ) ~ B i17]
ik B B2 <R (k1 3R) [ 42/ ~ M) 115 E57]
B A h i3 CTC (PRCHH) i3 1 i3 1
B EhHI A 1k A (J520) [ATS - Jior ok 22 HE A =X ATS-Z A= ATS- & ATS-SK-Z8JE = ATS-ZJH ATS-Z A=
[yl DC 600V P PR PR PIRR Y
SRR I 50.0km/h 65.0km/h 65.0km/h 85.0km/h 95.0km/h (F H#R) 65.0km/h
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[ISER =L 2 IERER LA UskiE Elm b [REk A

(g4 NEFER LA UEKIERR PRI L MR (5 STEgkE 9 3)

X f OV 2% m (1R ) SR~ FUPN BRTE e i ~ B P Ml D 50

116.9km 2.1km

LA (mm) 1,067 1,067

BR¥ (4 7) 28 4 330

R S (%O )] 20 1 48
50 X5% () 255 1 1,576

BT 5 Eakd 132 12 1,028
HoME - - -
EiRY 9 = 22
i ARE 17 - 126
aat 158 12 1,176

BB IEHR O A7 H 1

Bl ZER H#EhpAZ<R 2HT
B A h CTC (PRCHF) e
B &5 g 1k 4 E 2 (J720) |ATS-SK- &&= ATS-SK-ZE &=

[yl PR P

SRR I 95.0km/h 15.0km/h
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(N[EE]
HAE AR 4 TR eI R gkaE R ERE REART2SI8 S JHE UL B T A% R R [#iE &3]
%4 el i/ L— L NE R AH AR, DR SR KR BRI SEH | BRI AT REAHR, BT/ MR | T3 LR, TP B2 IR, 8 IR T sist
X f OV 2% m (1R ) N~ [€N9) (R0 (T PN 1LH1R)
8.8km | {15 ~ SR HRF REARBR A~ 7K BT B2 M~ R R BR AT
(FrBXHR) OKATFHR) (TN 2180)
e S| TRIEHT ~ 7K RTEL 5 LR B~ I I v R
(RXMT ST (REASHR) (8 1Li#R)
Rl SRRl ~ i R 23 3 ST~ [ AEAER AT Rz~
(RIFISZH) (E=EHR) (FEEHY)
NILHT ~Fi46 TR RTREA 5 ~ T UL v S BR AT~ B T
(AR (I #7) 13.1km
PEURHT ~ H 2 REARBR A1~ H
11.5km 12.1km
L (mm) - 1,435 1,435 1,435
BR% () 13 39 35 35 122
BRI S R B () - 1 - - 1
50 X% () 664 21 16 15 716
HEIE R 1R - - 2 16 18
5 2Hk = = = = =
H53HE - - - - -
HARE = 4 = 3 7
Hit - 4 2 19 25
B BSR4 f A i3 A H
fFiotRieiin PEdERE HPEFEE B B P2 GOl ~ A ] | B P2 G AR O~ Ml | 5
B A I CTC (PRCfF) i3 i3 i3
B Eh S g 1k 2 2 (J5:0)  [ATC- AFF 0 1 i3 1
&) DC 1,500V DC 600V DC 600V DC 600V
S B 65.0km/h 40.0km/h 40.0km/h 40.0km/h
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